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1. Areaof 7 square units
Answer: 16

Explanation:

Area lx7 =7

Perimeter 7 x2 +1x2 =16

2. Areaof 9 square units
Answer: 20, 12
Explanation:

Arealx9=9

Perimeter 9x 2+ 1x2 =20
Area3ix3 =9

Perimeter 3 x2+3x2=12

3. Area of 10 sguare units
Answer: 22, 14

Explanation:

Area 1 x 10 = 10

Perimeter 10 x 2 + 1 x2 =22
Area 2x5 =10
Perimeter5x2 +2x2 =14

4. Area of 12 square units
Answer: 26, 16, 14
Explanation:

Area lx12 =12

Perimeter 12 x 2 +1x 2 =26
Area 2x6=12

Perimeter6 x2 +2x 2 =16
Area 3 x4 =12
Perim &




